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General Instructions :

(i)
(ii)

(ii1)
(iv)

(v)

(vt)

This question paper contains 14 questions. All questions are compulsory.
This Question Paper is divided into 3 Sections — Section A, B and C.
Section—A comprises of 6 questions (6. Nos. 1 to 6) of 2 marks each.
Internal choice has been prouvided in two questions.

Section—-B comprises of 4 questions (Q. Nos. 7 to 10) of 3 marks each.
Internal choice has been prouvided in one question.

Section—C comprises of 4 questions (Q. Nos. 11 to 14) of 4 marks each. An
Internal choice has been prouvided in one question. It also contains two
case study based questions.

There is no overall choice in the question paper. Howeuver, internal choice
has been prouvided in some questions. Attempt any one choice in such
questions.

(vit) Use of calculator is not permitted.

SECTION - A

Question Numbers 1 to 6 carry 2 marks each.

1. The mode of a grouped frequency distribution 1s 75 and the modal class 1s
65-80. The frequency of the class preceding the modal class is 6 and the
frequency of the class succeeding the modal class 1s 8. Find the frequency
of the modal class.

2. How many natural numbers are there between 1 and 1000 which are
divisible by 5 but not by 2 ?

3. (a)

(b)

If the sum of the roots of the quadratic equation ky?— 11y + (k—23) =0
18 -;—? more than the product of the roots, then find the value of k.

OR

If x = — 2 is the common solution of quadratic equations ax? + x—3a =10
and x% + bx + b =0, then find the value of a%b.

4. Find the mean of the following frequency distribution :

Class 1-5 5—9 9—-13 | 13-17
Frequency 4 8 7 6
.30/4/1 3 P.T.O.
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5. In Fig. 1, there are two concentric circles with centre O. If ARC and AQB

are tangents to the smaller circle from the point A lying on the larger
circle, find the length of AC, if AQ = 5 cm. 2

B
A
C

Fig. -1

6. (a) The curved surface area of a right circular cylinder 1s 176 sq cm and

1ts volume 1s 1232 cu em. What is the height of the cylinder ? 2
OR
(b) The largest sphere is carved out of a solid cube of side 21 em. Find
the volume of the sphere. 2
SECTION - B

Question Numbers 7 to 10 carry 3 marks each.

7. Construct a pair of tangents to a circle of radius 4 em which are inclined
to each other at an angle of 60°. 3

8. (a) Find the value of ‘p’ for which the quadratic equation p(x — 4) (x — 2 ) +
(x—1)2=0 has real and equal roots. 3

OR

(b) Had Aarush scored 8 more marks in a Mathematics test, out of 35
marks, 7 times these marks would have been 4 less than square of
his actual marks. How many marks did he get in the test ? 3
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10. =fe us 30 gei Jreft gHTaE Ut 1 31faw e 119 37K 3ifaw ye & (vew ge $i 37) 891
g 91 g, d HHIG 31 &1 H1d A=A A HIU | 37d: 36 GHIGT AT o T Uel 1
AATHA FTd I |

QuE - T
TS HEIT 11 9 14 T T 91 4 35 & |

11. (%) 3Mehfd-2 U, Af vk gd, s PQR &1 T 41 QR i fog S 7T 431 shid1 2 31K
Fiefd 3Tl PQ 371 PR 1 shA9:: M 3R N W 9931 o1 &, df fag Hifae fob;

PM = %(PQ +QR + PR)

R N
HTHId — 2
1
(@) ITeRfa 3 °, 4 9t Bre aret v 99 & ufeTd v Figs ABC 39 WohR @ien T 3
fer @rgue BD 31k DC, s vt foig D gr1 BC fawifsa 2, 1 wismsai st 6
ot T 8 Aft B | Ife AABC &1 &%er 84 ot |ieft R, o f[onati AB Ut AC 6
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9. An aeroplane when flying at a height of 3125 m from the ground passes
vertically below another plane at an instant when the angles of elevation
of the two planes from the same point on the ground are 30° and 60°
respectively. Find the distance between the two planes at that instant. 3

10. If the last term of an A.P. of 30 terms 1s 119 and the 8t term from the end
(towards the first term) 1s 91, then find the common difference of the A.P.
Hence, find the sum of all the terms of the A.P. 3

SECTION - C

Question Numbers 11 to 14 carry 4 marks each.

11. (a) In Fig.-2, if a circle touches the side QR of APQR at S and extended

sides PQ and PR at M and N, respectively, then 4
M
Q
S
P R N
Fig. 2

prove that PM = é(PQ + QR + PR)

OR
(b) In Fig. 3, a triangle ABC is drawn to circumscribe a circle of radius 4
cm such that the segments BD and DC into which BC is divided by
the point of contact D are of lengths 6 em and 8 em respectively. If

the area of AABC is 84 cm?, find the lengths of sides AB and AC. 4
A

o)

B 6em D 8em C
Fig. 3
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13.

“ANT’ Weh YT ITEATE & S M 3R AT 1 Uk &9 g | TN T 15T Hid 9 &7 4
ool 39 TR T T T4 2 sfesh ITfaep wife 3 77 <t wnfa off v e 2 |
gt anT feam 2015 & & a9 21 4 1 IR FAE@T R |

T Y SETET 3 B 01 1 I T a3 7 e § v 7-feadia @t
ITTSH T | 3 e amifeord fafi= s sl S AT Al T TR G TS &

Sng‘clTi 15—-25|25—-35|35—-45|45 —-55|H5 - 65|65 - TH|75 -85

3 10 15 25 40 24 18

JUUh o 3R 9T, T 31ma <hife
(a) Trfer & amifepa fafir= 31y ani < <TnTi <61 wneresh 311 S1Ta i | 2
(b) 3l - 65 — 75 W x AT AR A PR H ATHERA LR BIAT, A HIEH Y

58 T Bt | x T A T HIFT | 2

.30/4/1 8

L ]
gcollegedunlaa
India’s largest Student Review Platform

T



12. From the top of an 8 m high building, the angle of elevation of the top of a

cable tower is 60° and the angle of depression of its foot 1s 45°. Determine
the height of the tower. (Take J3= 1.7132);

Case Study -1

13.

Yoga is an ancient practice which is a form of meditation and exercise. By
practising yoga, we not even make our body healthy but also achieve inner
peace and calmness. The International Yoga Day is celebrated on 215t of

June every year since 2015.

To promote Yoga, Green park society in Pune organised a 7-day Yoga

camp in their society. The number of people of different age groups who

enrolled for this camp 1s given as follows :

Age Group

25-35

75— 85

Number of
People

10

18

Based on the above, find the following :

(a) Find the median age of people enrolled for the camp.

(b)

.30/4/1
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If x more people of age group 65 — 75 had enrolled for the camp, the

mean age would have been 58. Find the value of x.
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14. G WRATE TSF IR YA 1 Th I 2 I gl % oAl & g g 8 | gai vied
Tl YR gt & sdq1 1 w1 8 e fofi= 3R & =93 & e, it 31 fifis
15 & K F 1Y A & g -a1 faefdra w1 ot srerfid fran 2 | < 3 39w fovu
ST et faifies & v o1g faed Y srmgfd @t gra <t St @ 3 38 “fatfies e ot
FHE AR |
FoleuTet o i Thell § 8 Uk o H&T 10 & BE1 & fore gt # Afeqes gHo1 1 ATH9H
feRarm | AT 1 <okt BT 9gd Scated 9 | Gt & g | ot e gl e femE T E

ey
e .l

I1 I

B I 579 TEG31 & 3THR T5d feoraed ohl 31 J 3= a8 T stepfaat S8

TMell, AS-Tet, S 3ofe | SIS Thd o | BEI o T1Y AT T & feres 3

ﬁﬂ%‘ﬁﬁﬁﬂﬂ@:

(a) TR Hek I, T I I & 9T &, i 3ATaHEs s 9 At 8 37 SR IR
I1 1 Brsem 3TR S shaen: 1.5 B 3T 4 T & | 3¢ 31eRTeTsh R Sl &1 g

Tt SRR ST H @1l a1 81, a1 fehde SeehR ST shl 3TTawrehdl 8 2 2
(b) Ifg It & QU W FT SRR SR H THH HaTs 3R UM A9 i U Ja=mhi 6
ETs TR, A SR H TohaA1 ITHT STt &8 ST 2 2
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Case Study - 2
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14. Khurja is a city in the Indian state of Uttar Pradesh famous for the

pottery. Khurja pottery is traditional Indian pottery work which has

attracted Indians as well as foreigners with a variety of tea-sets, crockery

and ceramic tile works. A huge portion of the ceramics used in the country

1s supplied by Khurja and is also referred as “The Ceramic Town'.

One of the private schools of Bulandshahr organised an Educational Tour

for class 10 students to Khurja. Students were very excited about the trip.

Following are the few pottery objects of Khurja.

e
I

I1

|

Students found the shapes of the objects very interesting and they

could easily relate them with mathematical shapes viz sphere,

hemisphere, cylinder etc. Maths teacher who was accompanying the

students asked following questions :

(a) The internal radius of hemispherical bowl (filled completely with

water) in I is 9 em and radius and height of cylindrical jar in IT 1s 1.5

cm and 4 cm respectively. If the hemispherical bowl is to be emptied

in cylindrical jars, then how many cylindrical jars are required ?

(b) If in the cylindrical jar full of water, a conical funnel of same height

and same diameter is immersed, then how much water will flow out

of the jar ?

.30/4/1
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